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1 public class MultiplicationTable {
2 *% Main method */
3 public static void main(String[] args) {
4 // Display the table heading
5 System.out.printin(" Multiplication Table");
6
7 // Display the number title
8 System.out.print(" "33
9 for (int j = 1; j <= 9; j++)
10 System.out.print(" "+ 3
11
12 System.out.printin("\n—m—mH—————— —— — ")
13
14 // Display table body
15 for (int i = 1; i <= 9; i++) {
16 System.out.print(i + " | ");
17 for (int j = 1; j <= 9; j++) {
18 // Display the product and align properly
19 System.out.printf("%4d”, i * j);
20 }
21 System.out.printin();
22 }
23
24}
Multiplication Table
1 2 3 4 5 6 7 8 9
1] 1 2 3 4 5 6 7 8 9
2 | 2 4 6 8 10 12 14 16 18
3 | 3 6 9 12 15 18 21 24 27
4 | 4 8 12 16 20 24 28 32 36
5 | 5 10 15 20 25 30 35 40 45
6 | 6 12 18 24 30 36 42 48 54
7 | 7 14 21 28 35 42 49 56 63
8 | 8 16 24 32 40 48 56 64 72
9 | 9 18 27 36 45 54 63 72 81
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Import java.util.Scanner;
public class Divisor {
public static void main (String[] args) {
Scanner input = new Scanner (System.in);
System.out.print (“Enter n: ”);
int n = input.nextint();

for (inti=1; i<=n; i++){

intcount = 0; // W 4xle a guda alans odi jlad
System.out.print (“Enter x: ”);

int X = input.nextint();

intj=1;

while (j <= x/2){

if (x % j ==0)
count++;

i+
}// end while

System.out.printin(*'x ="'+ x + "'\t count=""+count);
}// end for

} // end main
} // end class
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Enter n: 2 <
Enter x: 4

X =4 count=2

Enter x: 245

X =245 count=5




Al sa908 ) e 3 N AS Lwsh el p ol
SUS Gl 1 00 s gA ae A Ju )y giSI

A1 = 1*2*3*4 = 24

Import java.util.Scanner;
public class Factorial {
public static void main(String[] args) {
Scanner input=new Scanner (System.in);
System.out.print("’*Enter n: **);
int n = input.nextint();
inti=1;

while (i <=n) {
long fact = 1;
System.out.print(""Enter x: ");
Int X = input.nextint();

for(intj=2;j<=x;j+t)
fact *=j;

System.out.printin(*'x =""+x+"\t factorial=""+fact);
I++;
} // end while

} // end main
} 1/ end class
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Entern: 3 <
Enter x: 4

X =4 factorial=24

Enter x: 12

x =12 factorial=479001600

Enter x: 34
x =34 factorial=4926277576697053184
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public class Test { public class Test {
public static void main(String[] args) { public static void main(String[] args) {
for (int i =1; 1 < 5; i++) { int i = 0;
int j = 0; while (i < 5) {
while (j < i) { for (int j =1; J > 1; j--)
System.out.print(j + " "); System.out.print(j + " ");
J++; System.out.printin("##*=");
} T+
} }
} }
} }
(a) (b)
public class Test { public class Test {
public static void main(String[] args) { public static void main(String[] args) {
int i = 5; int i = 1;
while (i >= 1) { do {
int num = 1; int num = 1;
for (int j =1; j <=1; j++) { for (int j = 1; j <= 1; j++) {
System.out.print(num + "xxx"); System.out.print(num + "G");
num *= 2; num += 2;
} }
System.out.printin(); System.out.printin();
i--; T4+
} } while (i <= 5);
1 }
} }
(c) (d)
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1 public class TestBreak {

2 public static void main(String[] args) {

3 int sum = 0;

4 int number = 0;

5

6 while (number < 20) {

7 number++;

8 sum += number;

9 if (sum == 100)
10 break;
11 1
12
13 System.out.printin("The number is " + number);
14 System.out.printin("The sum is " + sum);
15 }
16 1}

The number 1is 14
The sum is 105
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public class TestContinue {
public static void main(String[] args) {
int sum = 0;
int number = 0;

while (number < 20) {
number++;
if (number ==10 || number == 11)

continue;
10 f sum += number;
11 }

12

13 System.out.println("The sum is " + sum);
14 }

15 }
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The sum 1is 189

000000000000000000000000000000000000000000



